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sin(x +y) =sinx-cosy+cosx-siny
sin(x —y) =sinx-cosy —cosx-siny
cos(x +y) =cosx-cosy—sinx-siny
cos(x —y) =cosx-cosy+sinx-siny
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sin2x =sin(x +x)=sinx-cosx+ cosx-sinx = 2Sinx-cosx

SIn2x = 2S8inx -cosXx
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cos2x = cos(x +x) =cosx-cosx —sinx-Sinx = cos“x — sin“x
c0s 2x = cos*x — sin’x
tgx +tgx 2tg x
tg2x =tg(x + x) = 2 - J
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[Tpumep:

Wn 2x = Cosivo— s
Mpeobpa3oBaThb BblpaxKeHua: sin 12x, sinx, cos 4x.

PeweHune:
sinl12x = sin(2 - 6x) = 2sin6x - cos 6x

. _ . 2 x — . x x
Sinx = Sm( E) = Zsmz-cosi

cos 4x = cos(2 - 2x) = cos*2x — sin*2x



[Tpumep:
sin2x =2sinx-cosx
¥NpPOCTUTbL BblpaXKeHue

sin 2t ,
— sint.

cost

PeweHwne:
2sint-cost

—sint=2sint —sint = sint
cost

OTBeT: sin t.



[Tpumep:

cos 2x = cos?

X — sinx

M¥NpPOCTUTb BblpaXKeHune
cos 36° + sin?18°

cos 18°
PeweHue:

cos 36° = cos(2 - 18°) = cos*18° — sin?18°

cos 36° + sin?18° co0s?18° — sin?18° + sin%18°
= = c0s 18°
cos 18° cos 18°

OTtBeT: cos 18°.



[TIpnmenp: 1
sin?x + ¢cos’x =
(o SEI%9° e #1Rlosle

Rbiumcnuntb
(cos 75° — sin 75°)2.
PeweHwue:
(cos 75° — sin 75°)% = c0s?75° — 2 cos 75° - sin 75° + sin?75° =
=1—-sin150° .
sin 150° = sin(90° + 60°) = cos 60° = >
1 1
75° — 75°)2 = 1 — — = —
(cos sin75°)% = > =5
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OTBeT: 2



[Tpumep:
sin2x =2sinx-cosx
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PeweHue:
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[Tpumep:

sin’x + cos?x =1
MOKa3aTb TOXKAeCTBO cos 2x = cos2x — sin’x
. 1 —cos 4t
Sin“2t = .
2
J10Ka3aTenbCTBO:

1 —cos4t sin®2t + cos?2t — (cos*2t — sin* 2t)

2 2
B 2sin?2t
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> Sin




[Tpnmep:

sin’x + cos?x =1

JdoKazaTb TOXKAECTBO sin(x —y) =sinx - cosy,— cosx; siny
COS 2X = CcOS“X — sin“x
5 - (3m
2sin“2t =1+ sin 7—4t .
J10Ka3aTenbCTBO:

31 31 3T
Ssin 7 — 4t | = Sin7 - coSs 4t — cos7 - Sindt = — cos 4t

3
1+ sin (7 — 4t> = sin?2t + cos?2t — (cos?2t — sin?2t) = 2sin’2t



[Tpumep:
RewunTb ypaBHeHMe sin2x = 2sinx - cosx
sin2x + cosx = 0.

PeweHue:
2sinx -cosx +cosx =0
cosx(2sinx+1)=0

cosx =0 UIn 2sinx+1=0

x=§+nk,kez x=(—1)k+1§+nk,kez

OTBerT: % + mk,k € Z, (—1)k+1%+ wk,k € Z.



[Tpumep:

HaliTn KopHu ypaBHeHUA, NnprHaanexatume otpesky [0, 2]
cos2x + 3sinx = 1.

PeweHwue:

cos 2x + 3sinx = cos®x — sin*x + 3sinx =

=1 —sin®x —sin®*x +3sinx = 1 — 2sin’x + 3sinx
1—2sin’x+3sinx =1

sinx(—2sinx+3)=0

sinx =0 NNn —2sinx+3=0

x =1nk k €Z

2

2y — sin’x

COS 2X = CcoS

Otset: Wk, k € Z.



